1070372008 11:14 IFAX

®

i)

[ yes
-V:?Sc %

» Mark Van Raamsdo 002/009

A +tain moving al 0.5¢ enits 1i5‘f\'t (a‘l speec(
C in the train's "?fn.w--e-) ‘F\fom its -gron"‘f
head{ia‘n‘l‘. What speed does d, €ixed

ob sevver beside the ek meagure Lo

the light 7
lAhswer; C ‘\ .
AlinAars C »/

|

Baac 2002 FReeT
& T [+ M

A -ﬂqs'ﬂ of !,‘Sb\'t S gwithed *‘\Cram the Cérd’ér’
of a MO";"\S train. ACCM‘JMS Y a fixed
observer near the '{‘mck, the lf@k‘_{'

reaches the back of the 'l.rlf‘qin

o} at the same time as

@) betore
&) atter

—H\e “«5'"+ readies e 'Efon{ 5\:-’(’/@ train

Vs 4
\ e,
s
LY s s
Ly 4
K P

A"‘5W¢f: 8

The JFDP PiC\f“"’e elrwws_ two faAs/

as observed in the fame of e
lower rod. lhida of 4he rumaining
Pic-l—uures represents an obseration
of the same rods in the frame
a—g +lhe uPPev’ r‘ool?

Answer: C

7or w IRSCR  ¢osp (faGTm

o7 i

fonineg »



10/03/2008 11:14 IFAX

» Mark Van Raamsdo K1003/009

v e Two }dm"(ita[ Clocks are set b e
Same +time as one passes the othev
«— (5] A ot \f\ialﬂ Vt’.locﬂy (o5 shown ia the op
figure). Which of the” other Siqures
— g5 o - r‘ei)resentfs a. po(ssible, observation of
Fhre clocks A Seme later Fime i
— [ 'Hne— 'E‘V“ame ot the Tixed clock.
o C (Assume the readings on the clodes are exach),
=
EXCEN
[ C ]
.
1=7]
| movinC  (LeCh /7 §iamy
Wl P 27} —— (T 0.8c A meter S+5Ck ‘efavglg a+ 0.%c

%

ve lative Jo Seme 4;,@4 observesr

How (0“3 does Hhe observer measice

foc the Hme i+ dakes the stick pass

A e

B) = k -

) 2en Wower: [

D) ‘22""

E o.'is»n X:' / : i
[-0.6% 3

- == 0715 %



10/03/2008 1;.:14 TFAX A + Mark Van Raamsdo [#004/008
o - -

: v
: Which of the diagrams below pest i
Z, the shape of the shaded object e

- ct in dhe
‘l‘op Pic‘fwre_l as ocbserved b}; the
@D .

pesson n Hhe r‘ocke:t A *H«e‘ J‘"P
Q@ -
v

?ic{‘wra ..
D . . - ot ot

i
!
i
1
- K _

i
H R

. '

J : t b i >y

According Yo awn observer ' N
in the Srame u.s}nﬁ £ L /
x” and 17 Caoro[‘-r\o.‘kes)
which event - is at the
Sam e, ‘oca‘lion AS the
everl mocked K 7

Answec - A j




10/03/2008 11:14 IFAX

®

O] Ql—>v
{@1@: @ @)
& a)—v
) @]
B__ & GV
@ €]l
S (o)

eac’x\ o"\’lﬂ.ew 0\:{'

v
>

/)QZ

-+ Mark Van Raamsdo [£005/009

Twe ‘.Jew’ﬁc@.[ meter S'\'?c{:;, cacly
with sync,h(‘om%ed clocks ot de
ends and 1n the middle, pass
7 V=J§C. whichh
Pfc:{‘ure. f'e‘PTese}\‘}‘S a ?osslble_

ObSerVa‘hon e Hae SYﬁ'@% ot
Some  ingtant i e Hame of

the lower meter stick. Numbers
n the circles (epresent the

alock f“eacl?r\js (?’\ Seme “_‘"HHS)

<3 (Answ; 'Cj *

MovinS  Snck  Saomree

/i]/ B oh C

MO 2on g,
A



10/03/2008 11:15 IFAX

+ Mark Van Raamsdo [d1006/008
N B

> ‘K Two 6L\2Ps approa ch eadn Hhee
. -fc- 5 : 0.‘]‘ I’\i{-‘)k Ve{aci’{')/)qg SLOUV\-
< A g yeac ;/Q The SkiPS Qve MH‘Ea”){ i Light

Yeas apqre.
o) What is the speed T SLEP B as measuwzd by ship AY

. \ ) (nfa?fﬂ‘s)
¥ Yy U5 35 |
v % C = 7o JAE LA
[« “Ye" [+ 715 3#
35 4
-2 %
3F

b) A‘Ssumins ‘Hr\e, Clock‘ an S‘AlP A v(‘eqcf_s -t’:‘t) in the Pic*l"-cre
H Q\oo\;@! what does Yhe clock vead when Hie two sktf)_g.

meet? ./ S
. i [y -
i / /’) /(5§ ~ / \ o 2. Yica i
(}/5/.; %’}C‘ . ?

v }"m TWNAREY  Erapme Fern Shepr TS Ager

. 5
L)

‘g/; : é’/; Yeans



10/03/2008 11:15 IFAX » Mark Van Raamsdo [007/009
c} Hou ‘5';1-" awa‘z does A sbserve B ‘l‘o, be wlmen A'I clock
reads {'=o (2 poircts)

i /)’jf F./Mﬁ\ﬁ/‘ A A?’f’{/gﬂ 7 7

Sy Feor -’%a 0 rmes % ey 7¢ Cor
Theas So
5 |
37 & LF5
20



joanna
Pencil

joanna
Pencil

joanna
Pencil


